
      

 

 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 
 

 

kl;lk;  I  guPl;ir - [dtup 2022  

(Level I Examination - January 2022) 

 

 

gupe;Jiuf;fg;gl;l tpilfs; 
 

(102) tpahghuf; fzpjKk; Gs;sptpgutpaYk; (BMS) 

 

,yq;if fz f;f Pl ;Lj ; njho py ;El;gt pa hs u;fs ; fofk; 
,y > 540> ntd ;. KWj ;njl ;Lntd Mde ;j ehf pk p khtj ;i j > 

  ehNu`d ;g pl ;b > nfhO k ;G - 05 
                                njh.Ng - 011 2 559 669 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

fy;tp kw;Wk; gapw;rp gpuptpd; ntspaPL   



 
 

1 

 
102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

 
 
 

 

 

 
 
 

(nkhj;jk; 40 Gs;spfs;) 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;:  
1.1 (3)  

 6y - 4   = 36 + y 
            6y – y   = 36 + 4 
 5y = 40 
 x  = 40/5 
             x            = 8                     

 (03 Gs;spfs;) 

1.2 (2) 

vspa tl;b (I) = Pnr                   P = 45,000, r = 8.0% =0.08, n = 3 
                                  = 45,000 X 3 X 0.08 
                                  = Rs.10,800     

(03 Gs;spfs;)  
1.3 (4) 

  
  
 
 
 
 
 
 
 
 
,e;j tFg;gpd; khztu; fzpjg;gapw;rp tFg;Gfspy; kl;LNk fye;Jnfhs;tjw;fhd 

epfo;jfT 
𝟏𝟕

𝟓𝟎
 

(03 Gs;spfs;;) 
1.4 (2) 

   L1 = 39.5, ∆1= 38 − 20 = 18 C = 10 
                             ∆2 = 38 − 26 = 12 
                          Mfhuk; 

$l;lkhf;fg;gl;l juT Mo = 𝑳𝒊 + [
∆𝟏

∆𝟏+∆𝟐
] × 𝑪 

  𝑀𝑜 = 39.5 + [
18

18 + 12
] × 1 

                                                                  𝑴𝒐 = 𝟒𝟓. 𝟓                                            

 (03 Gs;spfs;) 

         

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  I guPl;ir – [dtup 2022 

 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 gupe;Jiuf;fg;gl;l tpilfs; 

gFjp - A 

20 

50 

27 

17 10 10 

13 

 

fzpjk; tpQ;Qhdk; 
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102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

1.5  (4) 
 r   =                      n ∑ xy -  ∑ x . ∑ y 

                   √ (n ∑ x2 - (∑ x)2) (n ∑ y2 - (∑ y)2) 

 

          r   =                 6 X 5,190 – 105 X 240 

                   √ (6 X 2,275 - 1052) (6 X 11,870 – 2402) 

 

     = +0. 9934  

(03 Gs;spfs;)  
1.6 (1) 

 𝑄 =
𝑞1

𝑞0
× 100 

 

𝑄 =
85

50
× 100  

    = 170% 

 (03 Gs;spfs;) 
1.7      (1)  

E(X)   = ∑ X × P 

                = (1 × 0.30) +(2 × 0.35) + (3 × 0.15) + (4 × 0.20)  

                                   = 2.25  

 (03 Gs;spfs;) 
1.8 (2)     
 𝑺 = 𝑿(𝟏 + 𝒓/𝑵)𝒏×𝑵  x= 15,000 n = 3         r = 0.12        𝑁 = 4 
 
 𝑆 = 15,000 × (1 + 0.12/4)3×4 
  
            S   = 21,386.41 
 
            S   = 21,386 

(03 Gs;spfs;) 
1.9 (3) 

 T = 2,759 - 177x 

     2022 Mk; Mz;bw;fhd X  ngWkjp 7   

     T = 2,759 - 177×7 

              = 1,520  

 (03 Gs;spfs;) 
1.10     (2)                                                                                

      nghUs;;;; fpuak; : = 
100

115
 × 3,680 =  𝐑𝐬. 𝟑, 𝟐𝟎𝟎 

 (03 Gs;spfs;) 
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102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

1.11 
 A    (3) 

 B    (1) 

 C    (4) 

 D    (2) 

(01 Gs;sp tPjk; , 04 Gs;spfs;) 

1.12      
1. vspa rPuw;w khjpup 

2. mLf;F rPuw;w khjpup 

3. fps];lu; rPuw;w khjpup 

4. Kiwahd rPuw;w khjpup 

                                                                                                                (02 Gs;spfs;)        
1.13  

Sn = 
𝒏

𝟐
{𝟐𝒂 + (𝒏 − 𝟏)𝒅}  a= - 4,       d=7,        n=20 

 

S20 = 
20

2
{2 × (−4) + (20 − 1)7} 

            S20 = 10(-8 + 133)       

                  = 1,250                      

 
khw;W gjpy; 

  

Kjyhk; cWg;G    = - 4 

,Ugjhk; cWg;G = - 4 + (19 × 7) 

                                  = 129 

 

S20 = 
𝟐𝟎

𝟐
 (𝒂 + 𝒍) 

      = 
20

2
 (−4 + 120) 

      = 1,250 

 (02 Gs;spfs;) 
    
1.14  $w;W gpioahdJ 

 (01 Gs;sp) 
1.15      $w;W rupahdJ 

            (01 Gs;sp) 

(nkhj;jk; 40 Gs;spfs;) 
 

  

gFjp A epiwT  
 A 
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102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

 

 (nkhj;jk; 40 Gs;spfs;) 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 

mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fU 

(a) 
 8x + 3y = 42                       1 

5x + 2y = 27                       2 

             1   × 2 = 16x + 6y       = 84                       3 
             2   × 3 = 15x – 6y       = 81                       4 

             3   -     4       = 84 – 81 
                             x   = 3 
 
             1   8 × 3 + 3y   = 42 
                               3y   = 42 – 24 
                               3y   = 18 
                                y    = 6  

                                                                                                              (04 Gs;spfs;) 
 

mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fU 

(b)      
Kiwik 01     

1 tJ Mz;bd; ,Wjpapy; fzf;fhsupd; rk;gsk; = Rs. 75,000 
5 MtJ Mz;bd; ,Wjpapy; fzf;fhsupd; rk;gsk;  

   = 75,000 (1 + 0.05)4 

   = 75,000 × 1.05 4  

   = 91,162.96 

 
Kiwik 02 

Y1 = 75,000  = 75,000.00 

Y2 = 75,000 × 1.05 = 78,750.00 

Y3 = 78,750 × 1.05  = 82.687.50 

Y4 = 82.687.50 × 1.05 = 86,821.87 

Y5 = 86,821.87× 1.05 = 91,162.92 

(03 Gs;spfs; 
 

mj;jpahak; 07 - tpiyr;Rl;nlz; kw;Wk; vjpu;T $wYk; 
(c)  

 q1 q0 p1 p0 p0q0 p1q0 

A 450 600 120 80 48,000 72,000 

B 300 400 250 175 70,000 100,000 

C 850 750 60 40 30,000 45,000 

 148,000 217,000 

gFjp B 
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102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

,yh];ngahupd; tpiyr; Rl;b ( LP ) = 100
00

01









qp

qp
%

 
 

     = 
217 000

148 000
 × 100% 

     = 146.62% 

(03 Gs;spfs;) 

 (nkhj;jk; 40 Gs;spfs;) 
tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 
 
mj;jpahak; 03 – tzpfj;jpd; epjprhu; nraw;ghl;L mstPLfs; 

 (a) 
nkhj;j fpuar; rhu;G (TC)   = khWk; fpuak; + epiyahd fpuak; 

                                 = - q2 + 24q + 100,000  

nkhj;j tUkhdr; rhu;G (TR) = Demand × Number of units 

                                                            = (49 – q) × q 

                                               =   𝟒𝟗𝐪− 𝐪𝟐 

                                                                                                              (03 Gs;spfs;) 
(b)   

vy;iyf; fpuar;rhu;G (MC)    = 
𝐝 (𝐓𝐂)  

𝒅𝒒
 

 

                                       
d (TC)  

𝑑𝑞
   = - q2 + 24q + 100,000 

                                     MC    = - 2q + 24 

 

vy;iy tUkhdr; rhu;G (MR) = 
𝐝 (𝐓𝐑)  

𝒅𝒒
 

                                        
d (TR)  

𝑑𝑞
   =  49q− q2 

                                   MR       = 49 – 2q 

 (03 Gs;spfs;) 
(c) ,yhg> el;lkw;w fzpAk; 

               TR = TC 

   49q− q2 = - q2 + 24q + 100,000 

                        49q – 24q = 100,000 

            25q = 100,000 

             q  = 4,000 myFfs; 

 ,yhg> el;lkw;w fzpak; = 4,000 myFfs; 

 (04 Gs;spfs;) 
 (Total 10 Gs;spfs;) 
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102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

 
tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 
 
mj;jpahak; 05 – ,uz;L mstPl;L khwpfis xg;gpLjy; 

(a)  ∑ X =104 ,   ∑ Y=139  ,   ∑ XY =2,116,   ∑ X2 =1,466,   n = 8                                              

x y x2 xy 

8 5 64 40 

10 10 100 100 

9 8 81 72 

12 15 144 180 

14 16 196 224 

15 20 225 300 

16 25 256 400 

20 40 400 800 

104 139 1,466 2,116 

 

    b    =  
𝐧 ∑ 𝐗𝐘 −  ∑ 𝐗 ∑ 𝐘

𝐧 ∑ 𝐗𝟐 −  (∑ 𝐗)𝟐
 

    b  = 
(8 × 2,116) –(104 × 139)

(8 × 1,466)−1042  

     b  = 
16,928 – 14,456

11,728 −10,816
 

     b  =  
2,472

912
 

     b =  2.71 

    a    =    𝒀̅ − 𝒃𝑿̅ 

           =    
𝜀𝑦

 𝑛
−  

𝑏𝜀𝑥

𝑛
 

           =    
139

8
− [2.71 ×

104

8
] 

           =   17.375 – (2.71× 13) 

           =   17.375 – 35.23 

      a   =   -17.86 
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(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

rkd;ghL    

       𝑌 = 𝑎 +  𝑏𝑥 

       𝑌 = −17.86 +  2.71𝑥   

       𝒀 = 𝟐. 𝟕𝟏𝒙 − 𝟏𝟕. 𝟖𝟔  

                                              (07 Gs;spfs;) 
(b)  tpsk;gur; nryT Rs.25,000/-. 

  x = 25 vdpd; 

   y = 2.71x - 17.86 

      = (2.71x25) - 17.86   

                                           = 67.75 - 17.86   

                                           =  49.89  

 

             vjpu;ghu;f;fg;gLk; tpw;gid mst = 49,890 

(03 Gs;spfs;) 
(Total 10 Gs;spfs;) 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 

mj;jpahak; 04 – juT toq;fYk; tpsf;f mstPLk; 
 
இடைவெளி 𝒇 𝒙 𝒇𝒙  x2 𝒇x2 

40 – 49 35 44.5 1,557.50 1,980.25 69,308.75 

50 – 59 22 54.5 1,199.00 2,970.25 65,345.50 

60 - 69 28 64.5 1,806.00 4,160.25 116,487.00 

70 – 79 24 74.5 1,788.00 5,550,25 133,206.00 

80 – 89 26 84.5 2,197.00 7,140.25 185,646.50 

90 – 99 15 94.5 1,417.50 8,930.25 133,953.75 

 150  9,965.00 30,731.50 703,947.50 

 

(a) 

 ,il        =   ∑ 𝒇𝒙 

                          ∑ 𝒇 

      =    9,965 

                          150 

      =   66.43  

                                                       (03 Gs;spfs;) 
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102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

(b) 

 epak tpyfy; = √
∑ 𝒇𝒙𝟐

∑ 𝒇
−  𝒙        

                           = √
703,947.50     

150
−  66.432        

                           =√4,692.983 –  4,412.945 

                           = √280.038 

   =   16.734 

(04 Gs;spfs;) 
(c)                                                                                                                  
     khwy; Fzfk; (CV) = epak tpyfy; / ,il  ×100% 

                                         = 
16.734

66.43
 × 𝟏𝟎𝟎% 

                   = 25.19 

 (03 Gs;spfs;) 

           (Total 10 Gs;spfs;) 

   

gFjp B epiwT  
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(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

(nkhj;jk; 20 Gs;spfs;) 

tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 

mj;jpahak; 02 – tzpfj;jpw;fhd epjpf;fzpjk; 
(A)  
 (a)   
Kiwik 01     

      A    = 
 SRn (R−1) 

Rn−1
 

             = 
120,000 ×(1+0.08)3 (1+0.08−1)

(1+0.08)3−1
 

             = 
12,093.2352

0.259712
 

             = 46,564.02 

Kiwik 02    

Mz;L fld;njhif 
jPu;f;fg;gl;l 
njhif 

fopTf; fhuzp 

(8%) 
Kw;gzk; 

0 120,000 - 1.000 - 

1 - A   

2 - A 2.577 2.277A 

3 - A   

 

2.577 A = 120,000 

            A = 
120,000

2.577
 

           A = 46,565.77 

  (03 Gs;spfs;) 

(b) fldPl;L ml;ltiz 

Mz;L 
njhlf;fj;jpy; 

epYit njhif 

nrYj;j 

Ntz;ba 

tl;b (8%) 

jpUg;gp 

nrYj;Jjy; 

Kbtpy; 

epYitj;njhif 

1 120,000 9,600 46,564 83,036 

2 83,036 6,643 46,564 43,115 

3 43,115 3,449 46,564 - 

     (03 Gs;spfs;) 
 
 

gFjp - C 
 - C 
 



 
 

10 

 
102/BMS 

 

(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

 
(B) 

mj;jpahak; 02 – tzpfj;jpw;fhd epjpf;fzpjk; 
(a) 

 0 1 2 3 

njupT 1: 

    fhRg; gha;r;ry; (500,000) 200,000 200,000 200,000 

    fopTf; fhuzp (10%) 1.000 0.909 0.826 0.751 

    ,w;iwg; ngWkjp (500,000) 181,800 165,200 150,200 

    epfu ,w;iwg; ngWkjp (njupT 1) (2800) 

njupT 2: 

    fhRg; gha;r;ry; (350,000) 150,000 150,000 150,000 

    fopTf; fhuzp (10%) 1.000 0.909 0.826 0.751 

    ,w;iwg; ngWkjp (350,000) 136,350 123,900 112,650 

epfu ,w;iwg; ngWkjp (njupT 2) 22,900 

  (06 Gs;spfs;) 
(b)  

                     njupT 1:  njupT 2: 

KjyPL                                                 500 000   350 000 

epfu ,w;iwg; ngWkjp             (2800)     22,900 
 
$ba epfu ,w;iwg; ngWkjp &. 22>900. MfNt> njupT 1 rpwe;j KjyP;lhf 
njupTnra;ag;gly; Ntz;Lk;.  

    (02 Gs;spfs;) 

 

mj;jpahak; 06 - epfo;jfTk; mjd; fzpg;gPLfSk 

(C) 
A - vOj;Jg; guPl;irapy; rpj;jpaile;Js;s khztd;  

B - nra;Kiwg; guPl;irapy; rpj;jpaile;Js;s khztd;  

P (A) = ½ P (B) = 1/3  P (AՈB) = 1/4 

P (B/A) - khztd; xUtd; vOj;Jg; guPl;irapy; rpj;jpaile;Js;shu; vdj; jug;gLkplj;J> 

mtu; nra;Kiwg; guPl;irapy; rpj;jpailtjw;fhd epfo;jfT 

                                      𝐏(𝐁/𝐀) =  
𝐏(𝐀Ո𝐁)

𝐏(𝐀)
 

=
1/4

1/2
 

=
1

4
 ×

2

1
 

 

    = 
𝟐

𝟒 
 𝒐𝒓 

𝟏

𝟐
 

(03 Gs;spfs;) 
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(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

mj;jpahak; 06 - epfo;jfTk; mjd; fzpg;gPLfSk 

(D)    
 

X: itj;jparhiyapy; Gjpjhfg; gpwe;j Foe;ijfspd; epiwfs; (Kg) 

 µ=2.5         σ =0.45 

        𝒛 =
𝐗  −  µ

𝛔 
                                    

𝑧 =
X  −  2.5

0.45
     

           𝑧 =
3 −  2.5

0.45
 

                    𝑧 = 1.11     

 
 

 

 

 

      2.5 3.0   

     

 

 

                 Pr(X > 3) = 0.5 - 0.3655 

                                  = 0.1335 

                                  = 13.35% 

 

* ,e;j itj;jparhiyapy; Gjpjhfg; gpwe;j Foe;ijapd; epiw 3 fpNyhfpuhkpYk; 
mjpfkhff;    fhzg;gLtjw;fhd epfo;jfT 0.1335 or 13.35%.  

 (03 Gs;spfs;) 

(Total 20 Gs;spfs;) 
 
 
 
 
 

  

gFjp C epiwT 
 C 

0.5 – 0.3665 = 0.1335 

0.3665 

   0     + 1.11 

x 
 z 
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(102) tpahghu fzpjKk; 
Gs;sptpgutpaYk; 

 

 

Notice:  
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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